Minutes of meeting (17/01/2022)

The second meeting of the Committee constituted to consider applications for Merit Scholarships, Free Studentships and Student Aid Fund was held on 17/01/2022 at 3.00 pm in the Council Hall, Administrative Building, Goa University.

Prof. Vidhyadatta Verenkar chaired the meeting.

The following members attended:

- 1. Dr. Arvind N. Haldankar, Dept. of Sociology.
- 2. Ms. Scarlet Ava Fernandes, Dept. of Portuguese and Lusophone Studies.
- 3. Dr. Suraj P. Velip, Goa Business School.
- 4. Dr. Sheryl Oliveira Fernandes, School of Earth Science, Ocean and Atmospheric Science.
- 5. Shri. Leo Macedo, Deputy Registrar, DSW Office.

Shri. Ranjan Naik, Coordinator (DSW), was also present for the meeting.

The post of AR (DSW) is presently vacant.

Dr. Meghnath Prabhu, Dept. of Biotechnology did not attend as he was on leave.

The Chairperson welcomed all the members present. He briefed that a minor re-categorization of the students was done in view of difference in tuition fees paid for different courses.

The categorization would be as follows:

Category I	MA (Inc. Maths), M.Com.
Category II (A)	M.Sc. (Excluding Electronics)
Category II (B)	Electronics.
Category III (A)	M.Li.I.Sc,
Category III (B)	B.Li.I.Sc,
Category IV (A)	MCA
Category IV (B)	MBA Financial Services
Category IV (C)	IMBA.

The Committee noted that as per the recent revised Budgetary allocation, the following were the provisions which was lower than the amount proposed/requested.:

Budget Head E-4 Merit Scholarship Rs.50,00,000/-

Budget Head E-5 Free Studentship Rs.26,00,000/-

Budget Head E-6 Student Aid Fund Rs.2,00,000/-

The Chairperson and Deputy Registrar immediately met Vice-Chancellor and Finance Officer who kindly agreed to enhance the provisions as follows:

Budget Head E-4 Merit Scholarship Rs.65,00,000/-

Budget Head E-5 Free Studentship no change

Budget Head E-6 Student Aid Fund Rs.6,00,000/-

Based on the above amounts the Committee worked out the allocations as follows:

FEE CATEGORY	No. of Applicants	Tuition fee paid.	1% increase on tuition fee	TOTAL (Tuition fee + 1%)			
Category I	266	6205	62	6267	1667022	1667022	MA (Inc. Maths), M.Com. M.Sc. (Excluding
Category II (A)	257	12390	124	12514	3228612	3216098	Electronics)
Category II (B)	7	16230	162	16392	114744	114744	M.Sc. Electronics
Category III (A)	13	12000	120	12120	157560	157560	M.L.I,Sc.
	4	10000	100	10100	40400	40400	B.L.I.Sc. MCA (partial tuition fees
Category III (B)	100			17000	680000	680000	covered)
Category IV (A)	40	38276				578000	MBA MBA FINANCIAL SERVICES (partial tuition fees covered)
Category IV (B)	34	40000		17000	578000	30300	IMBA
Category IV (C)	3	10000	100	10100	30300	30300	IWIDA
	624				6496638	6484124	550 students full tuition fees covered. 74 students get partial assistance Balance : 15,876/-
FREESHIP: B							
FEE	No. of	Tuition	0.5% increase on tuition	TOTAL (Tuition fee +			
			increase on tuition fee	(Tuition fee + 0.5%)		704668	MA (Inc. Maths), M.Com.
FEE	No. of	Tuition fee paid.	increase on tuition fee	(Tuition fee + 0.5%)		704668	M.Sc. (Excluding
FEE CATEGORY	No. of Applicants	Tuition fee paid.	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452		1045968	M.Sc. (Excluding Electronics)
FEE CATEGORY Category I	No. of Applicants	Tuition fee paid.	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 0 12060		1045968	M.Sc. (Excluding Electronics) M.L.I.Sc.
FEE CATEGORY Category I Category II (A)	No. of Applicants	Tuition fee paid. 3 6205 4 12390	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 0 12060		1045968	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition feet
FEE CATEGORY Category I Category II (A) Category III (A)	No. of Applicants 111	Tuition fee paid. 3 6205 4 12390 5 12000	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 0 12060		1045968	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition feet covered) MBA MBA FINANCIAL SERVICES
FEE CATEGORY Category I Category II (A) Category III (B) Category IV (A)	No. of Applicants 11. 8.	Tuition fee paid. 3 6205 4 12390 5 12000 1 10000	increase on tuition fee	(Tuition fee + 0.5%) 6236 12452 12060 10050		1045968 60300 10050	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition fees covered) MBA MBA FINANCIAL SERVICES (partial tuition fees covered)
FEE CATEGORY Category I Category II (A) Category III (B)	No. of Applicants 11. 8.	Tuition fee paid. 3 6205 4 12390 5 12000 0 38270 4 4000	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 3 12060 4 10050 22900		1045968 60300 10050 458000	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition fees covered) MBA MBA FINANCIAL SERVICES (partial tuition fees covered) Full tuition fees covered (203)
FEE CATEGORY Category I Category II (A) Category III (B) Category IV (A)	No. of Applicants 11. 8.	Tuition fee paid. 3 6205 4 12390 5 12000 0 38270 4 4000	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 3 12060 4 10050 22900		1045968 60300 10050 458000	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition fees covered) MBA MBA FINANCIAL SERVICES (partial tuition fees covered) Full tuition fees covered (203)
FEE CATEGORY Category I Category II (A) Category III (B) Category IV (A)	No. of Applicants 11. 8.	Tuition fee paid. 3 6205 4 12390 5 12000 0 38270 4 4000	increase on tuition fee	(Tuition fee + 0.5%) 6236 2 12452 3 12060 4 10050 22900		1045968 60300 10050 458000	M.Sc. (Excluding Electronics) M.L.I.Sc. B.L.I.Sc. MCA (partial tuition fe covered) MBA MBA FINANCIA SERVICES (partial tuition fees covered) Full tuition fees covere (203) partial tuition fees (34)

FEE CATEGORY	No. of Applicants	Tuition fee paid.	0.25% increase on tuition fee	TOTAL (Tuition fee + 0.25%)		
Category I	20	6205	16	6221	124420	MA (Inc. Maths), M.Com.
Category II	15	12390	31	12421	186315	M.Sc. (Excluding Electronics)
Category III	3	12000	30	12030	36090	M.L.I.Sc.
Category IV (A)	2	10000	25	10025	20050	B.L.I.Sc.
Category IV (B)	6	38276	96	23300	139800	MCA (partial tuition fees covered)
Category IV (C)	4	40000	100	23300	93200	MBA MBA FINANCIAL SERVICES (partial tuition fees covered)
	50	popul (L)S			599875	Full tuition fees covered (40) partial tuition fees (10)
						Balance: 125/-

The committee was of the opinion that the cut out for the merit scholarship could be raised in view of the high performance of the students in the recent years.

The meeting ended with thanks to the Chair and all present.

Prof. V.M.S. Verenkar

Chairperson

MERIT SCHOLARS	HIP: BH E- 4	65,00,00	0/-				
FEE CATEGORY	No. of Applicants	Tuition fee paid.	increase on tuition	TOTAL (Tuition fee + 1%)			
Category I	266	6205	62	6267	1667022	1667022	MA (Inc. Maths), M.Com.
Category II (A)	257	12390	124	12514	3228612	3216098	M.Sc. (Excluding Electronics)
Category II (B)	7	16230	162	16392	114744	114744	M.Sc. Electronics
Category III (A)	13	12000	120	12120	157560	157560	M.L.I.Sc.
Category III (B)	4	10000	100	10100	40400	40400	B.L.I.Sc.
Category IV (A)	40	38276		17000	680000	680000	MCA (partial tution fees covered)
Category IV (B)	34	40000		17000	578000	578000	MBA MBA FINANCIAL SERVICES (partial tution fees covered)
Category IV (C)	3	10000	100	10100	30300	30300	IMBA
	624				6496638	6484124	550 students full tution fees covered. 74 students get partia assistance

Balance : 15,876/-

1

Port. V.M.S. Werenkar Chairman

FREESHIP: BH E-	5 26,00,000/	'				/
STUDENT AUD FU	D. H. I.		1% 05%			/
FEE CATEGORY	No. of Applicants	Tuition fee paid.	increase on tuition	TOTAL (Tuition fee + 0.5%)		
Category I	113	6205	31	6236	704668	MA (Inc. Maths), M. Com.
Category II (A)	84	12390	62	12452	1045968	M.Sc. (Excluding Electronics)
Category III (A)	5	12000	60	12060	60300	M.L.I.Sc.
Category III (B)	1	10000	50	10050	10050	B.L.I,Sc.
Category IV (A)	20	38276		22900	458000	MCA (partial tution fees covered)
Category IV (B)	14	40000		22900	320600	MBA MBA FINANCIAL SERVICES (partial tution fees covered)
	237				2599586	Full tution fees covered (203) partial tution fees (34)

Balance: 414/-

Prof. V.M.S. Venenkar charoman

FEE CATEGORY	No. of Applicants	Tuition fee paid.	increase on tuition	TOTAL (Tuition fee + 0.25%)		MIA P SE REMARK MICES N
Category I	20	6205	16	6221	124420	MA (Inc. Maths), M.Com.
Category II	15	12390	31	12421	186315	M.Sc. (Excluding Electronics)
Category III	3	12000	30	12030	36090	M.L.I.Sc.
()tegory IV (A)	2	10000	25	10025	20050	B.L.I.Sc.
Category IV (B)	6	38276	96	23300		MCA (partial tution fees covered)
	1.5	100		1,0000 5200	od 525. A	MBA MBA FINANCIAL SERVICES
Category IV (C)	4	40000	100	23300	93200	(partial tution fees covered)
	50				599875	Full tution fees covered (40) partial tution fees (10)

Balance: 125/-

Prof v. m. s. Verenkar charoman